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General Instructions :

1. Candidate must write his/her Roll Number on the first page of the Question
Paper.

2. Please check the Question Paper to verify that the total pages and total number
of questions contained in the Question Paper are the same as those printed on
the top of the first page. Also check to see that the questions are in sequential
order.

3. Making any identification mark in the Answer-Book or writing Roll Number
anywhere other than the specified places will lead to disqualification of the
candidate.

4. Write your Question Paper Code No. 56/HIS/2, Set [A] on the Answer-Book.

5. (a) The Question Paper is in English/Hindi medium only. However, if you wish,

you can answer in any one of the languages listed below : E'FE

English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayala?ri', Kannada,
Telugu, Marathi, Odia, Gujarati, Konkani, Manipuri, Assamese, Nepali,
Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the
box provided in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and
English, the responsibility for any errors/mistakes in understanding the
questions will be yours only. OEAD)

s
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BIOLOGY (Theory)
Srafasm (frgra)

(314)
Time : 3 Hours | [ Maximum Marks : 80
Uy : 3 T | [T’ﬁﬁﬁ : 80
Note : (i) This Question Paper consists of 30 questions.
(ii) Al questions are compulsory.
(ii) Marks for each question have been indicated against it.
(iv) Each question from Question Nos. 1 to 8 has four alternatives—(4A), (B),
(C) and (D), out of which one is most appropriate. Choose the correct
answer among the four alternatives and write it in your answer-book
against the number of the question. No extra time is allotted for
attempting multiple-choice questions.
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1. A male infant was born with an extra X chromosome. The infant was
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pronounced to be

(A) Klinefelter (B) Turner

(C) Mongol (D) Transgender 1

T A Serh B S W @ T Afdfe X QU A ol ek J foeme o
ECLI
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2. Which of the following is a true fish?

(A) Dogfish @‘%@ (B) Starfish
[=]pt

(C) Silverfish (D) Jellyfish

frafafad 4 @ FR-H v 2o waeft 27

(A) e (B) wRfHm

(C) Tocerftha (D) Siferftesr

3. Pick the odd one out :

(A) Night blindness (B) Scurvy

(C) Xerophthalmia (D) Colour blindness
frrferfias & @ At IR -

(A) Tedt (B) Tl

(C) SR (D) =rferar

4. Identify the modification to which runner, stolon and sucker belong :
(A) Aerial modification of stem
(B) Subaerial modification of stem
(C) Underground modification of stem

(D) Underground modification of root

3G B ®I gHU, SEeh dAaid URErl (FR), i (WaH) R Iued (T)
I T EE

(A) T T FRIfE BT
(B) T 1 IS EIO
(C) T = T FAT

(D) ST &1 YN EI@
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5. Identify the narrow spectrum antibiotic : 1
. CIEAC] .
(A) Tetracycline Eﬁ% (B) Chloramphenicol
(C) Streptomycin (D) Erythromycin
Hifq J= (A WeeH) atel ifeamifes @l g
(A) T (B) FARTHIhIC
(C) weemfe (D) TR

6. Apomixis is
(A) development of plants without fusion of gametes
(B) development of plants in darkness
(C) mixing of characters due to fusion of gametes

(D) effect of low temperature on flowering 1

srETe ot B

(A) TWHRI & TASH & oA Nl BT S

(B) R H Well w1 AT

(C) JWhI o GANH o HRUT AHUT P HA-FA ST
(D) T amIeRH 1 T W INTE

7. Identify the starch containing bodies which are integral part of the

chloroplasts in green algae : 1
(A) Glycogen gjﬁg (B) Pyrenoid
(C) Carotenoid (D) Cellulose

3wl fUel w0 g, St & tEl % gRacal (FARRE]) & AR 39 2d ©
(A) TeATERISH (B) uRiAEE
(C) ifeATse (D) Egerrst
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8. Which one of the following is not a turgor movement?

(A) Flowers of Portulaca bloom during the day and the petals close at
sunset

(B) Opening and closing of stomata
(C) Mimosa pudica droops when touched

(D) Leaf closes in the Venus flytrap when the insect enters

frefafaa & @ wF-of whifa 7fa 78 Dd?

(A) Tigctshr o gt 1 T o faen qon @i oo W agliedi 1 gen S
(B) I’%ﬁaﬂwamaia%ﬁg%

(C) 7 W AT gfsw g S

(D) Fle F fi® Jaw F W 78 Feargen i al=mt #1 &g 7 S

9. List any four advantages of biodiesel.

IS o I TR AT Fq1EY |

10. Name the respiratory organs of (a) cockroach and (b) earthworm.

(%) fae=rg1 T (@) g3t o oA 3 & A JarR|

11. Distinguish between a test cross and a reciprocal cross.
R (e i) 3R FRd e H 3 Fdrsy|

12. State two points of difference between innate immunity and acquired
immunity.

e UieRan 3R 3uTfeid Ufckedm & & ol § A sarsu|

13. Name the parts of the brain which carry out the following functions :
OF

&
(a) Maintain balance of body s

(b) Carry out reflexes below the neck
(c) Carry out mental activities of thinking, reasoning, memorizing, etc.

(d) Control heartbeat and other involuntary actions

o
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14. A pregnant woman has to feed her developing embryo, therefore she needs
extra nutrients in her diet. List any four dietary requirements of a pregnant
woman. 2

T Tt afgen 9 GREHHE §or Rl RO-TEe 7 BT 2, 3 3@ T SRR
4 sfafis qoor gl ol STEawEeRdl Bl g1 THedl Aigen i Smer wed el @ m
METIHRATAT I Gl TR

15. (@) Give any three adaptations found in flowers to promote cross-
pollination.

(b) Give any one adaptation to ensure self-pollination in flowers. 2

(%) T H W-TE H qGET o (¢ T AW A gl d TRl i ==
ifse

(@) g § W-WE gHfTed F# % e #E T e Janst|

16. With the help of a flowchart, list the steps involved in the coagulation of

blood. Q%g 2
[=]g%
R whad ufern § fafeq =won i vEmEER i gEEda @ U gE e

17. List the four steps to summarize the process of energy flow in a food chain. 2

U WTE @ H Se1-TaT8 Uik 1 &0 e ok U wR =won il e ARt

N
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18.

19.

20.

21.

22.
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Draw neat and labelled diagrams to show the main difference between
epigeal germination and hypogeal germination.

SRR S0 3R AT 310 § Y@ AR -MH & ot =g R Amifha

NG SEY | EEE
v

With the help of sketches and appropriate examples, distinguish between

the following pairs :

(a) Corymb and Umbel

(b) Axile and Parietal placentations

o 0

ferll 3R 3Iug el afgd Fefaiad g™ # @ Famsy -
(%) AR (i) R qoss
(@) weflg 3R fira s

(a) What is soil erosion?

(b) List any three anthropogenic causes of soil erosion.

(%) TeT UG T T 27
(@) ¥a1 AWE & Fohdl o1 AHas SRl Sl gt S5y

(a¢) What is leghemoglobin? How is it synthesized? Give its function.

(b) Briefly explain the process of nitrogen fixation in nature.

(%) HTEMFCISE I FAT 87 U Ty foRE YRR BT 27 3Heh i Sdsy |
(@) ufd | Ag2eH e ufhen &1 9av § o i)

(a) (i) State the meaning of sustainable development.

(i) Mention any four activities which will help in sustainable
development. E4E
5

(b) Define the term ‘endangered species’. Give an appropriate example.

]
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(F) (i) waq aei fawm % a1 A e fif
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23. How is the DNA molecule packaged in an eukaryotic chromosome? 4
F’E

TF gHeE oA § DNA 31 o weR "afeq 2 2? g..ﬁ

24. (a) With the help of diagrams, explain binary fission in Amoeba.

(b) Draw a neat diagram of a nerve cell and label the following :

Perikaryon, axon, node of Ranvier, dendrite 4
(%) @l H Gerar ¥ sftar 7 fgfavem i =men fig

(@) dfet IR F TF T R aA1EY qol Fefafiga S 1 amie S
TieRtaTt, dbreRte (T, Wi wol, gie

25. Answer the following questions : 4

(a) Name the gall-producing bacteria which can be used to produce
transgenics.

(b) Define the term ‘bioremediation’.

(c) State the main objectives of vaccination.

ffafea gt & s AT

(%) 3m fufesmr (ict) Scaes d* i@ o1 9m aqe, S aRsiE & 3ded & oo
W fRaT ST TRt B g%:g
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26.

27.

28.

(@)

(b)
(%)
(@)

(b)

(c)

(%)
(@)
()

Draw a neat and labelled diagram of the longitudinal section of
an ovule in an angiosperm. E&M
s

How is an endosperm formed?
T USITH o SiSie i 3TIeed e & Wod Ud AMIhd IRE@ SR |
Yoy (YErRud) fohe W ST 27

What are meristematic tissues? Name the types with their location.

Based on their habitats, distinguish between methanogenic and
thermoacidophilic bacteria.

Distinguish between androecium of China rose and Pea.
favsaIaes Has F1 BId 87 3% YRR o A QAT Ik IC T % €M Ty |
THTATEl % SER W HIASEE SR A9 - ST SaiiEnsti § A Jars|

TeEd IR WX UGIeIW § 3T Fqry|

Draw a neat diagram of the excretory organs in humans and label the
following :

Kidney, ureter, urethra, urinary bladder

Distinguish among ammonotelic, ureotelic and wuricotelic with

appropriate examples. EE

AEEl o 3caSH 3T ol Ueh W=d MW [T qo1 399 Hfafgd o1 amHie
sifsg

U 3SR Aled SHIAT-3cat, JE-3caqifi Td Iehma-3eart W™ § TR
TS|
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29.

30.

(@)

(b)
(c)
(d)

(@)

(b)

Draw a neat diagram of the female reproductive system in humans and

label the following parts : Elg =2

Uterus, ovary, cervix, vagina
Where do fertilization and implantation take place in the above system?
Name the two female hormones.
State and define the surgical method of birth control in females.
AHEl o HIE] SGA 1 Th WEes ARG IARU qd 39N [HHEfeiigd |E
AR hIfSTT

T, JTERME, e, A
Swth o O Fdem den fadiver el @ 27
31 W& BEHT % A Sdrsy|
el § gatd-fy s wsil-fate i afarn sar ge == hi)

Explain the biosynthetic phase of photosynthesis with the help of a
diagram. Where does this phase take place in plants and what is the
main product formed?

Distinguish between C; and C, photosynthesis with respect to (i) CO,
acceptor and (i) first product of carboxylation. :ﬁ%

T MG il TEIdl ¥ TH-HIATT hl SI-HIAH T i e i
el § Ig UTERAT Rl Al & A7 3k T IcAE HT B o

(i) CO, TTE 3R (i) HEFIcRT & JoH 3I@E & dad § C; IR C,
THII-HIATI H AR 3T |
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